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height = len(zhenlie)

width = len(zhenlie[0])
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map = dict()



# B—ATHAE N w T, ZEHE—5, WRHI-1, CF AR AR
for i in range(height):
noAdjacent = list() # AHHARIIF5 5%
noFault =list() # JL#fEI5] 5 51%
fault = list() # #FAIF15 5%
#OXATHIEE R, Wt u TR
result = dict()
for j in range(width):
# if zhenlie[i][j] == -1
# fault.append(j)
match zhenlie[i][j]:
case 0:
noAdjacent.append(j)
case 1:
noFault.append(j)
case -1:
fault.append(j)
result[" A AH2L"] = noAdjacent
result["JGHFE"] = noFault
result["Hi[%"] = fault

map[i] = result



for key in map:

print(" 45 R4 FE AT ")

print(f" {key} 0 &K 45 50 /2"

print(f' {key} i &R 55 HIAMAETH 24", map[key].get(" A HH4E")
print(f" {key} T5 &R 1O JC HbE T 4", map[key].get("TC "))
print(f" {key} T0l s &5 BT ", map[key].get("#fE"))

fo = open("result.txt", "a")

fo.write("45 R4 BR AT \n'")

fo.write(f" {key} T &) 45 F & \n")

fo.write(f" {key} TH AR5 AR ARAB I & {map[key].get( AR \n")
fo.write(f" {key} T 55 I TC M= 100 A3 {map[key].get('JTCHFE")  \n")
fo.write(f" {key} TR 55 I HC BRI A5 : {map[key].get('#FE") \n")
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